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Instructions — gyPleyenyser
This question paper contains 80 questions in Part-A (General Knowledge) and 60 questions in Part-B (Psychology)

related subjects.
@d}‘\ﬂmﬂﬁﬁﬂﬂﬂd’ U@E’ ‘9 G]Llﬂﬁj &fﬂﬁﬂﬂﬁﬁ 80 Qﬂﬁﬂ&&@l—b. u@‘@ lﬂ’ LM@S]HJGU ﬂhu,-:sgmrrm’ Ltﬂl_.fﬂl'&ﬂﬂﬁi! 60

aflernds@pib o érenar. )
The type of question paper (A, B, C or D) should be shaded in the answer sheet using blue or black ball point pen.

The answer sheet without shading the type of question paper will not be evaluated. _
@eiafemssrafisir cuansew (A, B, C or D) aflevL_gsmelled Sygp@simn_nen GL 86 Faoib (Syebavs) &@LUy D
uned umfler’. Guemneeas Garewm® awd, Ve uler Sl aub. alamgsrelen wms@WL UL L
B il e, Hyfs aflenL_ggmer @I _Liu_om L ngl.

Write the Enrolment number using blue or black ball point pen at the appropriate box in the answer sheet.
SenLggnefay, Sevib (Hyevevss) sy Bp ured umden CGuemeeauds Qsnan® CGaidems csimament HSHES MU

SLL 86 erp® 196l L evL. B L ayib.
Answer all the 140 questions. TENK:SI AKASH FRIENDS ACADEMY
0: 219, NETHAJI ROAD

140 Gasirallsgnd @b allanwellds Gaam@ib.
Each question carries half a mark. ' MANJAKUPPAM. CUDDALORE-1
95:'1@@:7@ Gaerallé@Lb syeng @G iedsr ouprrsLILI@ILD. Phone: 97911 84300 ‘

The answers to the questions should be shaded in the relevant circles using blue or black ball point pen.

Eﬂfm_sgm B (yebevgl) sy Bp Fip unsd umifler.. Guertencud Q&TaT® HNFSHS WL L Aiseleh L anL
L L_ayth.

For each question only one answer is to be chosen and shaded.

9@ aflamaild@ en allaew i @Cw ULl 8L eayth.

For wrong and improper shading, no marks will be given.

gaupns UL el SUyamGan, 956 Drdsdiadr QeiignGan Siigs Cadralld s w,@a.‘;@'uahr SenL_dangy.

Write the Enrolment No. in the question paper.

Csttdens aratnencms Gadrailssmefley srgaLb. !

Write the S1. No. of the OMR answer sheet in the question paper at the appropriate place.

OMR aflenc_ggrefiein rednenems Casirallgsmeded erepsayid.

. Ifthere is any printing error, or error in page number in the question paper, the sam 58

of the invigilator immediately. e P @ should be brought o the notice

o.wg aflermggrele) aCGsgub Héal OeanpQun, udshisdr sfuns @sarall "

Pl @& sfwnen Cadralggmaneants Qupps CamergpLomp qﬂqﬁﬁ,s;u@;;ﬁwm SRR L

All the questions are bilingual except language questions (English & Tamil),

um_ ) UGS (& b sBp) Csdral) ' afit, : :
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No: 219, NE ALl ROAD,
MBNJAKUPPAM, CUDDALORE-1 -2- TENKAS! AKASH FRIENDS ACADEMY |

OAD,
Phone: 9791184300. . 219, NETHAJIR '
[PART ‘A’: General Knowledge] = No: 245 ST opaLORE-1, |

: . 84300.
1. waves of the Sun are perceived by the skin as heat. lﬁ aone. 97911
(A) UV light (B) Infra-red (C) Gamma (D)

& Mwesflesr s@nseamer Gxmed GlauL 5 g_auufﬁ@‘ o
(A) yp cargns sSriser \(B) :&é@mu;eﬁ agﬂﬁa "

(C) "&mon sSiser L 5@’?5‘? ; Ranipet
2. There are numerous industries in the places such as Vaniambadi, Ambur,

in Vellore district (D) Cement .
(A) Tanning (B)_ Silk weaving (C) Sugar (D . . s
Gsl;@qﬁ LTI L $S6Ter  cumesiuLbLImg., LbLy, @'DWGU'E?UQUL.G& |
RS Q)L_misefled mmmissewrdss st Cls T FTen VSEIT 2_GITGITEYT.

(&) Ganeo LsaflGae (B) wLl® Orsay

Fi&Sen T (D) &6)oemore”
. 3. Theriver which is involved in the dispute between Brazil and Argentinais

(A) Laplata. (B) Orinaco (C) Congo (D) Mis§1ssxpp1 .
UIGISgus@Ld 9yiiGlggeimg awmed)p @b QL Cu 2 érer L97éfenemidas@ i
<20/ .

mferm L ) - (B) efamGst
(C) anmGar (D) ' everdeIg
4.  The sea tunnel Railway line beneath the England Channel Connects the two cities

and v ’

(A) Paris - London ; (B)  Oslo - Coppenhagen

(C)  Stockholm - Hamburg ' (D) Cairo - Athens

9 BIF o0 sreveuruilary uiley GFsayib SLVYE GoLa) e @ouiled

Cuns@geagss Qevews@b Quav® seymisedr . LoPmiLb ;

(A)  wmilev - @)ever_er | B) yevGeur - CsmiuerGanseir

(©) ~ov_réGapmb - GapibLiis (D) CsuwiByr - Qs sirey
Pulakesin-II defeated Harsha Vardhana on the banks of the river

(A) Yamuna (B) Narmada- (C) "Godavari (D) Ganga
Quam_mb  ea9GsH DD EIE e Fuleh
Compay ssmi. 1 |

aviapeisserengs

(A) wwewar [(B) BLDGH (C) Cangmeu D) sBens § %
When was Kalinga warheld 9 o O o) o
(A) 271BCE  (B) 261BCE (C) 251BCE D) 24 D < gSs
SOmIsL1 Qumt TICLUnG) Fevr G DGl ? Y alhee : g gl "?
(A) Gumgy.ap. 271 By Gl gy 1p. 261 2 iI3T
©) @Uﬂ-qﬂ,.(y). 251 (D) 6 LIT. <. (Lp. 241 EECa
The famous physician of ancient India was : = % 5 >
(A). Nagapana. (B) z}svagc.:sha (C) Vasumitra (D) Charaka 3 o R @
LIGSTEnL_1w @g,iawmﬂm UEDLSEE 1o 156860 mms QNI D useu x % T s
(4) Lt B) syouGamayi 225
©) wadsSui . <
=) | (D) agsir SIBRL é g

I
J
J
J
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TENKAS) AKASH FRIENDS ACADEMY
No: 219, NETHAJI ROAD,

_ ||I|I|WI|Ilﬂlﬂﬂﬂﬂﬂlllllﬂl -3- MANJAKUPPAM, CUDDALORE-1. Cc

Phone: 9791184300.

‘The Gateway of Tamil Nadu’ is
(A) Mumbai (B) Thoothukudi (C) Delhi (D) Chennai
‘BLOLpESG6iT fiempeumuiled’ 615/ ?
(A) pLbeou @ (C) @reald) (D) Gaerener
Plan Holiday — Period. ;
(A) 1956-1961 (B) 1969-1974 (C) 1966-1969 (D) 1961-1966
‘S L @ sreih’ 615 ?
(A) 1956-1961 (B) 1969-1974 \(C) 1966-1969] (D) 1961-1966
Indian Railway provide Wi-Fi facility firstin Indiais_____ Railway Station.
(A) Chennai (B) Bangalore (C) Delhi (D) Mumbai
QB8 w @)ruiehGas (g (Lpgedled Wi-Fi wsGlew_____ @ouiled Blavewss e
O mL_RISws. _ |
(A) Qseraenr \B) Quiisan[C) @ebed (D) pbenLs
The concept of ‘Quasi-Rent’ is associated with S
(A) Ricardo (B) Keynes (C) Walker (D) Marshall
‘Gured) aumILD’ 616D HWESGI WAHLGT CBMLiiLjenL_wg)?
(A) MesmiGLm (B) Serav (C) eunssi r) wmm;.aj] mye
: (O}
-El Nino and Lanina Currents are referred as the Children of ocean. '
(A) Atlantic (B) Pacific (C) Arctic (D) Antarctic
eeBaTGur ~ ewnperCGur FCm L _miseT QUIBRISL GSGT (& LphenSHeT
GTGAT o P& LILI (B FGHT D GuT. :
(A) an;imrma' | (B) LedE | TENK:S[ AKASH FRIENDS ACADEM
C) . | | e i o: 219, NETHAJI ROAD,
©) wrsy MANJAKUPPAM, CUDDALORE-1
Good Fishing grounds are found in the part of the ocean floor. PHOneE STHIABES 00,
(A) Continental slope’ (B) Ocean trench
(C) Continental shelf : (D) Ocean trough :
o W& LD&F Fwps b6 LY SSMEISET SL_GVLg ,zﬁ?eug Casmpponesr
LB uileh &mewnTLiL(H)&) 6T 6.
(A) sawL_& Filay (B) QuBEISL 6 @gﬂ
@)1 sI_g HL(5) - (D) Qu@prsL6 IysLf) -
The World’s largest river plain is
(A) Mississippi — Missouri (B) Ganga — Brahmaputra
(C) Narmada - Tapti (D) Uruguay — Paraguay

2 W& CGw sl CluMw pmIF F1o6euefser FLo6leuaflsemm@Lb.
(A) evedledng - BGlgerd  \B) smiws— GoboLgSgm
(C) pies-sus (D) 2 @G- ugngGa
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15.  Consist of illiteracy was relatcd to which problem ?
(A) Infrastructure (B) People related

(C) Leadership related (D) None of these
sevailwplailsrenwo e15eL_6ir QemiyaL_w gieamar?

A) g dralLawliy) (B) wdésar Qgm_itjenL_ i
(C) sovanw sming (D) @euppled 61g1aJLDlHanaev

16.  Example of small scale industries.
(A) Soaps production (B) Cement production
(C) Iron production (D) Pottery production

Sy Clsmfled Blmyeuersis endsmar QOEETEZ M)

\A) _Gemiy swrigse | B) &Ower suTAgsd
©) @y swrisse (D) wures_riser Swrdse)

17. GST stands for ; :
(A) Goods and Supply Tax - (B) Government Sales Ta_x I%Eg

(C) Goods and Services Tax (D) General Sales Tax
GST wiletr aflifleunday__

(A) 04 wHYILD ey Gurﬂ, (B) & allpuenar eur = o
]T}) &5 wHpib Craneu eul 1 (D) Glung aflpLiener au g g g::'
o) , _ o (o I
18. Who is the father of statistics in India ? 2233
-(A) P.C. Mahalanobis (B) AM.Khusro ZzZ3I8%
(C) Dr. Vijay Kelker (D) K.C.Pant EEle
@S w yereluweSer siheans GTGUTQ] YDLPSELILI B LIT u;:m?‘? T¥3 >
\(A)_PC. wsaGpmien | B) AM. GavGyr o g
() Dr. ofigs Gascv (D) KC.ups 56 58
. 3 -0
= -
19.  Indian rupee was devalued ___times since 1947. — :-5‘ ,
(A) 3 ®) 4 ©) 2. D) 1
@,rs,@tu eHLImLl 1947 = mﬂ@ﬁg{__ @D I IpéasLh Clewiwiu gy,
(é) 3 1966 \(B) 4. 5 © 2 D) 1
8= — ) A4p- 6T —4 T '
20. Chennai is iﬁso called as :
(A) Detroit of Europe (B) Detroit of Asia
(C) Detroit of South India (D) Detroit of USA

Clearenasr____ erewayih I PESLILIQS D). - : |

(A) ggGmruurmS?m QL gmii’. ﬁmm‘ﬂm O gmin |

s (C) Glzerafit@wmmrefetr G gmi ) USA afléir Qi gy - &\ J”n
— J ‘ g
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21. The Tenure of Municipal Corporation Mayor is years,
(A) Three (B) Four (C) Five (D) Six
wrpsrml & Guwher ugald STWLD_____ gy, eG&enm@gLb.

@ e ® prg  (© gis] O

22.  Which is not an International body ?
(A) SAARC (B) UNO (C) IMF (D) IHRC

B1p& &L upmI6T 618 2- W& IeLOLIL| @)edancy?
\ (A) &nmis ] (B) &&&w prihser a;bpa;m
©)  uaram @ £8 Hpeend (D) ustem @ wafls o.Maws SpsLD

23. 'Who said the theory of ‘Non Elitist’ ?

(A) KarlMarx (B) Lenin . (C) Stalin (D) Mao-Tse-Tung
Wiy eu@GLiiei gyeveor CaTL_LIM 19 eewrs Fplweurt w ?
A) &AgeL LATSE (B) Glevesflair
(C©) avi_madetr (D) wr-Csgm
24. In which year the Family Court Act was formulated ?
(A) 1985 (B) 1984 (C) 1980 (D) 1982
GG 55 LoTDEISET 6ThS (k) SIUSSLILILL G ?
(A) 1985 - \(B) 1984 (C) 1980 (D) 1982
25. Agricultural income earned in India is
(A) fully taxable ' (B) fully exempted
(C) not considered for income ~ (D) None of these
@8 wralleh CeuerTaimenLo GIHLOTGILD CTGTLIG)
A) e g[r.b i afl@LLIDGL UL LGl PP

L_ ppaugid ol alvsEDGL UL LGl | ; .
(C)  eu@BLOMGITLOTSS as@guu@m,@svsmv | ‘

(D) Qeuprled e1gIayLblcbeney

26. The book ‘Wings of fire’ is written by P : TENKAS]
"~ (A) Indira Gandhi (B) L.XK.Advani No! J:i(;\ ?Eiﬂi'jﬁéﬂfé Dtm!

(C) Manmohan Singh " (D) Abdul Kalam yanjapoppad
¢ . . 2 (] . UD J
el Ep@Gsar asp prane erpSluei? Phoxd: 97;1135;55“ i
(A) QB8 sMHS) (B) LK. ygaumed ;

©) weGwrser i . _((_D;)ju@ﬁvm

27. Human Rights Day celebrated on | |
- (A) 10" December __ (B) 10™ March
(C) 25% December (D) 15™ August
‘el 2 Menoser Derih’ G)&ncu'm_m_uu@l.b prer__

\%)’,jf_lfy_ﬂﬂz' N (B) omt¥10
g FLOLIT 25 . D) ysav® 15
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8. o sepauzed LpPu GBIy @_1b Quipieirer &1 @G BTV

(A)  ufum_éd kmgnm&f
(©) Qp@pdaTanL (D) uBDPDIILSS

29. ‘@@ubuLd’ eTeiLd Clmed (Lpgeir Wpsedled @)L_1b Oupp BIGY
(A) Q&mebasmiiwib (ﬁ) M) 60 6w
©) wspreomy D) BwéEwar

30. “smaflClard saGar; F55G)0)ard sevLienL” = @806sm_Meh ‘GeveT’ 6TERILD
Clemeh o_ewmriiggid GLimaeir

A) wrps smad | |  (B) Gunis s@ad
©) séas s@al (D) Gasemmain s@al)

31.  “emb eretiamiid Geipsrearys Qamehad) Qb ercdign)yLb
TLOLI LienGTeWE F(PLd” — B$@paileh @)L 1b CQupmyerar 2w

(A) Geupmyenio 3 Gof] I(B) a5C5F 2_(Heus jewd]
C) BlrevBleny oyewd I 9) THSSISEHTL (B 2_auenLp 2w
32.  ‘yeireiem b’ ~ GTGHD BIGLI LIGHL SFeui o]

TENKAS! AKASH FRIENDS ACADEMY =58

(A) &m unevgigwenfluy . (B)  saflesi wp. Cugsm .
(&Y @i, Ut peyewTetr J (D) sallepi sgzm

33. ‘spiiyg Gsuieugamss Gsiy.’ erain g@mei),. BL_%3% @ wppweut
(A) . @omosmd (B) Os. wm_smb)

(C) Ce. @umongygd - D Ogusmiger

34. ‘slp UBLILS6T sLSET Q)] G’urr,m',mt_'ru@mmﬁ
(A) @uon. 9. Cagyriferenaer (B) &p. ugsIISFCRITT
W &). emeu. grernggmﬁ] (D) ung®wm

No: 219, NETHAJI ROAD,

MANJAKUPPAM, CUDDALORE-1.
Phone: 9791184300.

35. ‘sLgl w'm,g)aﬂeir Qumupgih a4 FL_miGsenb Geuatm 7' — THGD 2 awygsy,
Sye1unCp flenp Coupd Qs et

(A)  umg@umi " B)  umIsnseir

(C) sawemgnser (p)’ (Lplg u_,ggeafl
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36. Choose the correct passive form.
‘I speak English.’ - g
l ('—F_ﬁ English is spokc_n_ljjfjg
(B) Englis_h_ are ;;c;kcn by me.
(C) English is spoken by I.
(D) English are spoken by 1.

37. Shivani wears a belt around her

\(A! waist | (B) waste

38. Prefix for the word mature.

TENKAS| AKASH FRIENDS ACADE/A/
No: 219, NETHAJI ROAD,
MANJAKUPPAM, CUDDALORE-1,
Phone: 9791184300.

(C) weist (D) weste

(2) unmature (B) dismature [E)/ premature | (D) enmature

39. Use the correct word.

Look, Shantha is going to from the table.

(A) sleep (B) slip

40. Choose the reported form of :
I said, “Where are the boys ?”

\ (&) Lasked where the boys were.
- (B) ' 1said where the boys are. .

(C) Ideclared where the boys are.
(D) . I exclaimed where the boys were.

(C) steep . (D) step.

41. Choose the sentence in si}nple past tense from the following :

[(f}.) She worked yesterday.

(B) She was working at 9 a.m. this morning.

(C) She works.
(D) She is working right now. '

42. Choose the correct question Tag.
Ajith seldom speaks in English.
(A) didhe? ‘

FC) does hﬂ

‘@ymnap IAS SSTLS
219 Bpsm Gon® (SB! efieo)

\DEHESGILID, HLEYIT-1.

" g@eb : 9791184300

(B) didn’the?
(2 doesn’t he ?
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44.

45,

46.

47.

i
Value of log,5 log,527 is
2
(A) 3 (B) 2 ©) 3
log;5 log,s27 —ait LoGILILY
2
‘QA)/ 3 B) 2 @ %

Mean and variance of binomial distribution are

(A) ng,npq (B) np,ynpg  (C) np,np
FOQILIYL LTaucSleT FIr& Lopmitb LigeIpLILg.

(A) nq,npq (R)/np,\lnpg  (C) np,mp

The value of [3]+;,([(51+,,(6])is___ . .

(A) [0] ® [y - © [2]
31+, ([(51+;,[6])-6br @iy

Aa)Y [0] B 1] - ©) [2]

If (@] = 13, [6] = 5 and a-b = 60, then the value of [a x-b| is

(A) 45 - (B) 35 ©) 25

IIlINHIIHIIWIIIHIIHIIHIIHHMIIIIH

(D) np,npq

(D) np,npq

(D) [3]

‘O) [3]

. E5E
B -Ii"|I

(D) 15

3] =13, [b] = 5 opmith 3-b = 60 erealleb [ x B| ~ir Sy

(A\)ﬂs (B) 35 | @

a b
The adjoint of the matrix [ d] is
. c

(DY -~ 15

TENKASI AKASH FRIENDS ACADEMY

No: 219, NETHAJI ROAD,

MANJAKUPPAM, CUDDALORE-1:

Phone: 9791184300.

' Ta b ol d —b d b
@ L dJ ®) [_c _dJ © [_c a] ©) L J

48.

[a :J er6i1D Syewfuicr QeI Sjenl

c

b] = — =0
4) [2 d] ®) -_: Lx/[/

The rank of a zero matrix is
A) 0 B) I < -1

L FSY yesfludles oLb
(AEZO S (B) 1 | €. =
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AR - T3 i1, 5, g, TN
49. If the temperature of a liquid is raised, then its surface tension is ' "IBagne
(A) increased (B) decreased % .
(C) equal to viscosity (l,)) [_)005 not change. & :5
$® Biws@er Qauifleow ADsNS510, gper upi) Gupalos I 6
(A) BDsMéEL (B)  @ewpuib * § <S
©) ur@uwe eramaydEs swd (D) wipig 253 § -
ad b ol
50. Ina closed organ pipe, the frequencies of harmonics are in the ratio EEC E
(A) L:1:1:1:.... (B) 1:2:3:4: ... (C) 1:3:5:7: ... (D) 1:9:25:49: ..... x & 5 >
epLg W 96T G Lpmufleh, GLopFIrEISeile 3 Bitlesssaller 550 S=b e
(A) L:l:1:li..... (B) 1:2:3:4...... &J 1:3:5:7:.... (D) 1:9:25:49: e ‘_; 2 B
51. The ratio of velocity of light in air to the velocity of light in medium 3 ‘2 o
(B) dispersive power of the air é 3

(A) dispersive power of the medium
(C) refractive index of air

sipPley  geafuier Hms CausSEDGLb.
CoussFm@Lb 2 6TeT 556

(A) se1_s8&)6T LIRSt (B) smppler LINSpeit
©) sTHBeT gofl alevse eresrr (D) sa1i_ 5586 @afl allevse) 6TessT

52. A card is drawn at random from a well-shuffled deck of 52 cards. The probability that it

will be a spade or a king is

17 4 9
A) 33 B 13 ©) 3 - D) 3
Beirg Ssovds  ABSH eusslulL 52 Fl(psomeand
81" PéaL 190BEgG o umiliL peopulsd @6 FLB ahssluGSDS.
iss G® ovGuLrsGeur (spade) Ievg @orensGeur - (King)

(D) refractive index of medium _
sor_ggGer  @allulleT Blavs

©)&s mevsTL_

QoluspaeT HSp550]

® 5 ®) = (- 5= 0% "
53 A die is thrown twice. The probability of getting a total of 9 is - =

@i @ ® 3 © 3 O 3

@ Fonar LS @Q@BLpaD & BLLLILBSDS. s aanseler B 9

FeOL_LILSDSTET Bl5 L) 550 |
- 5 2 1 '
@ ® § © 5

Momentum of a given body is doubled. Its kinetic energy becomes (mass not changed)
(A) doubled (B) fourtimes (C) halved (D) Remains the same.
@@ Gunmeller o fgb @@ wLmesns JABENEEDE. HICuUTE ST
Quss ypped (Benp waprg G '

(A) Qs wLEsEGL (B) Bre& WL misaELb
©) un@wmgLb D) Apig
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55.

56.

§7.

58.

59.

60!

61.

IIHHIIIIHIIIUIIIIIIIIIIIIMIIIHHH

wIle
uBucky ba”" 1s an a"OII’OPB of CIC|nent- (D) Phosphorous
. ' r .
(A) Tin (B) Carbon (C) Sulphu  auguth.

“ . a0 - . . o )] .
L& uney” TATUGl ____ SaflgGebr Lip Gauppl D) un LTV

(A) Qavarafuid\(B) &miuer)  (C) sebuit

The element used in pyrotechnics : )

(A) Barium (B) Calcium (C) Berylium (D) Magnesium

wésmiiys CsmPlelle LweLGL SafloLb
)l (B) srév®uwb  (C) GQuialub (D

)/G)wcissuf@wm

. alkali metal is used in photoelectric cells. -
(A) Li B) K (C) Rb (D) Cs
&y 2. Gaunsib el ersemisafcy LwGTLGSSLILGSDSI-

‘@) Li * B) K .~ (C) Rb M,(D) Cs l

Which element is used as moderator in nuclear reactor ?
(A) (Bl ®) B° - .© cV (D) ,N'

ey 2 @avsaley L HLULGSSwunsL LweTL G SafloLb 615/?
C® B © B @ A

The principle used in lightning conductof is
(A) Electro-magnetic induction (B) Corona discharge

(C) Total internal reflection (D) Ohm’s law

eitewed HL_gGsafleh LWETURLD $58IaILD

(A) 1061 SAB5S SIeTL_6v (B _geflan” L Beralipseis ]

© ww s afGgrafiiy ~ (D) @Lbler alg  mm

. ERR

The energy equivalence of 1 eV is

(A) 6.606x 107347J (B) 931x106]

(C) 1.602x 107197 (D) 6.626 x 10734

@ v gt Geunsl” (eV) $&& Fomes yPpped

(A) 6.606 x 10734 [ B) 931x1057 ] TEN

(©) 1.602 x 10719 ] (D) 6.626 x 1034 K:il gﬁﬁ:ﬂiﬁ? Fgcﬁ\C:D ;i
5 - -' ot MANJAKUPPAM. CUDDALO]IQE--I

¢ compound found in some stony deposits in kidneys is Phone: 9791184300 i

(A) Oxalic acid (B) Potassium oxalate i

(C) Calcium oxalate (D) Aspirin
AnibrssBle aeb Cuey saeRTUILIGILD Carioh

(&) ysenalls gyflevi (B)  Cur e nPwih oy deGa”

(@ s 255G | D)  @yevidfeir

T . . s——
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62.

63.

64.

65.

66.

67.

\@ ClFiCasmavGumgm G)ur'r&GmL_rrj

The unit of genetic map is

(A) Morgan (B) Locus (C) Metre (D) Centimetre
DI QUEIUL SHET K@ ____TTaLILIGILD.

\A)_wmisar ) @) Gersev (C) Blii (D) Gssng Bl

An example for synthetic auxin is
(A) IAA (B) PAA (C) ABA (D) NAA

Cewpens gy dadlnenisE @I UOEETE M)

(A) 1AA (B) PAA (C) ABA
Which pathogen causes Tikka disease in groundnut ?

(A) Cercospora personata (B) Pyricularia oryzae

(C) Xanthomonas citri (D) Tungro virus
Bovds_amaude 19 dsT Grreanw o GaursELd Crmuyuim 6151 ?

TENKAS! AKASH FRIENDS ACADEMY
No: 219, NETHAJ! ROAD,
MANJAKUPPAM, CUDDALORE-1.
Phone: 9791184300.

B) eul@Cavriur @earCs
(C) &mpCsm Gumesmav &L
(D) &EGor enaugav

Proteins on hydrolysis gives : OkL0]
(A) Carbohydrates (B) Ketones Db
(C) Amino acids (D) Carboxylic acids
LusBIsear BImD LGSsme ___ SloL s8pg.
(A) asmiGunenanig Gy’ (BHiser (B) 8LCLnewser

_ KE’L——Q“QGW” gﬁ@_@i@ (D) smiunsFedld yLblevEIseT
The inherent potential of any living plant cell to develop into entire organism is called
(A) Differentiation (B) Organogenesis '
(C) Morphogenesis (D) Totipotency

o imerer @@ Smeug QFe, (pupd STUTLONE 2 (BUTSGLD BDEiT
BLp& &L auTyl ®PpSsLILBHSDS.

(&) wapUr® LG (B) o mii&enTdsLb ‘
C) ypsCsrpp 2 (HaussLb (D) wpupsBpar Quppisirarant |

Which of the following is a long day plant ?

(A) Tobacco “(B) Sunflower

(C) Maize (D) Wheat Shanap IAS & daid
Beir uged FTUTSHDG THSHISEHTL (5)? 219, Graned Con (SBI siflev),
(A) yensulenev (B) sAwans® weres@uuD, HLegni-1.

(C) ws&snsGsmenth (D) Gangyenn~  ©ésv: 9791184300
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69.

70.

71.

72,

73.

OO

i3
Which plasmodium causes “Black water fever” ?
(A) Plasmodium ovale (B) Plasmodium falciparum
(C) Plasmodium malariae (D) Plasmodium vivax

67685 ermavGomy wdgmeb “& (5Bt &nu)#;{@_"ﬂq@g_@@;pg]? :
(A) WerravCumywid &CeuGev 'MGwnqwtbm@

©)  derravGuongub wGavMwr (D)  GerrevGLomg.WLb HGIGITEV

Nyctalopia is due to the deficiency of
(A) Vitamin.A (?) VitaminD  (C) Vitamin E
wrenews sevr Grmi) 616t GODLTL 19 rmed gHLBEDSI ?

\(A&)_eau i HeirA ) "~ (B) eweuL1flerD

(D) Vitamin K

(C) eéu’ L LbleiTE (D) eeul’ L thlerK - T
; g &

In human, cholera is caused b 1d6g
y < 3

. . E o

(A) Salmonella typhi (B) Yersinia pestis E45E :: g =9

(C) Neisseria gonorrhoea (D) Vibrio cholerae a2 5 o

wefigefleh srevgm ng@mg Camppalé@d Csmpmiuym § ;_: ©a

(A) e&mevomeweLeVT EnL_L9 (B) emi@aflwumr Quevigav cZ :'éc- >

—— Ay -

© BlevCshwm QanGeammAuwim M@n &1y | ?3 g%‘ §

The osteosclereids are seen in J‘i 2 i -
(A) Seed coat of pisum (B) Seed coat of crotalaria -

(C) Pulp of pyrus (D) Petioles of banan e

ovy Curavdletferg® sremiiLiGLb LGS
(A) ulL_rewfluler aflengwjeop - (B) &Crri_Gevflwmr aenguemp
(©) Cuhsgsnuier seg G (D). amenppullencvuieir smibry

In Brain visual area is located in -
(A) Occipital lobe (B) Parietal lobe (C) Frontal lobe (D) Temporal lobe

epemaruileT umianaull LGS 61 ?

\(A)  9_Ps sz | | (B) 2488 agLiLy
© | Q@,q‘;ﬁ& &FILILY (D) Cum’®& sgiy

Which one of the following hormone involved in retention of water in the body ?
(A) . Thyroxine. .(B) Vasopressin  (C) Oxytocin (D) Adrenaline
Bssem_auppier 61 apmiGLmer sLb o 1 aSe beog BlpisHs Cl&meiTeu Bt

&

FOUL (Dereng? -
(A) emggréeder l(B! mn@mnﬂgam‘
(C) H$CLneir (D) syicfemaslar

\

\
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74,

75,

76.

The-

78.

79.

80.

Cc
The title Sakari was assumed by
(A) Chandra Gupta (B) Samudra Gupta
(C) Chandra Gupta Il (D) Kumara Gupta

gnsf ereiip eIt QLiweangds ClBTeETL 6urt
(A) _pseomb s68) GLIS (B) w8 gLzt
Mﬂf@a’m_mb BT GLIS (D) @y GLIGIT

Phone: 9791184300.

No: 219, NETHAJI ROAD,
MANJAKUPPAM, CUDDALORE-1.

TENKAS| AKASH FRIENDS ACADEMY

The last Mauriyan king was
(A) Kunala (B) Dasaratha  (C) Pushyamitra (D) Brihatratha
Querfws Cuyr&er seoL_F o&FT Wmio

(A) @ewmener  (B) gagger - (C)  yeywihgpeir|(D) Hmpadisen

Who was known as “Lakh Baksh” ? -
(A) Qutbuddin Aibak : (B) Iltutmish

(C) Balban (D) Raziya | g a

“Té LSy eTew e LpddLILI(BILIGT wWi? : :
\@)_&s486 mQus | (B) @@L

(C) wmevLsesr . D) . @radwm

The capital of Magadha was .

(A) Rajagriha (B) Ujjain - (C) Kosala (D) * Kausambi

LO&5S GG SeHBSILD .
‘(?(T ObLLEIGETD (B) 2 genguilest]

C) Gsmsevib D) GserambLy :

© {9 TENKASI AKASH FRIENDS ACAGEMy

L ; ; .No: 219, NETHAJIR

Who proposed five kingdom classification ? 2 MAN ' ROAD,
(A) Carl Woese - (B) R.H. Whittaker J:hKéuﬁprA;l{,cUDDfLOR'E-*.
(C) Aristotle ' | (D) John Ray e HIT84R00:
BB&IVS USLILIML L (eTomplseut o '

(A) smieh Geumifaiv ‘ (B) RH o9-GLar)

(C) yMavi_m 196 (D) gnair Gy

The Kohinoor diamond was taken away by |

(A) Ahmad Shah Abdali (B) Nadir Shah

(C) Shuja-ud-Daulah (D) Najib-ud-Daulah

Car&ggrt eausses aBsg1é Qaapeut wri?
(A) g;amg/-\mn-a;ﬂgmﬂ LB) B8 apm
(©) afigr-2 g-Clgerem D) pgL-o g-Clgareom

The Headquarters of Servants of India Society
(A) Pune (B) Mumbai (C) Allahabad (D) Nagpur
QpSw uesilwnert FnissSer SENGELOWISLD | =

M - (B) wpbanus (©) g,'svcsnung: (D) prsyr
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[PART ‘B’ ; Psy@

81. Read the following passage and answer the question. Mitiday to Friday.
A, B, C, D and E are the five employees working in a company rom Od C will work
Each one is working for only one day. D and E will not work on weckcn’ S. A
on the day after E is working. D will work on the day before the B’s working day.

Who will work on Monday ? '

(A) A (B) B () € (D) D

Eipdser LuSGewL) Ly G5 Cserald@L LB S05S-. L
A, B, C, D wppib E 98w gig Ceuenaw ' s6T @ ﬁ@msﬂ?,i:@@ @Wﬁg
s Glavarell ey Gaueey GQeu@pmiser. gaGlaTHIBL @@ o
w G Cama CsiiGepart. D wppib E eurg @mi% prsafled Ga:‘uma.u
Osunwuom Lmiser. E Geusney Cetiougp@ B prer C Geauemav GFwIaum.
B Couanav Glruis prense@ (et Hard D Geuanav Gleuieum.
Srs &pei Couamaev QFuiLieur wimt?

(A) A (B) B (© C

L e

l@ DS

82. In a certain code language, the English alphabets are replaced by numbers. The numb.ers
corresponding to the alphabets are given below them. But, the numbers are jumbled. Find

out which number suits the correct alphabet.

ABLMS | QRLBA | PTQAB | LRNPQ | ATRNP
24538 93526 52601 93716 29071 o
m
(OF S
MSPTQ | QPNAR | RABLS | TSLBA | PLQST
84106 16729 29583 80325 31860
What does the number 5678 represent ?,
(A) QBSN (B) BQSN (C) BQNS (D) NBQS

@@ #m1Gs Glomfliled, YiBe T(S5i5MSSEGL LDTS araTsdr o dreares.

RGN GT(LPSSI%EHES

sBGIeTaNGl. IS GV TWSEDHE IBES eI  eTew SBBS

aflenL_welldsaLb.

ABLMS | QRLBA | PTQAB | LRNPQ | ATRNP

24538 | 93526 | 52601 | 93716 | 29071 TLiHKAST AKASH FRIENDS ACADEMY
No: 219, NETHAJI RoAD,

MSPTQ | QPNAR | RABLS | TSLBA | PLQST MAN‘LA:UP'T‘”' CUDDALORE-1,

84106 | 16729 | 29583 | 80325 | 31860 L L

5678 168D eTaRT 6TenG S (FHSGLD ?

(A) QBSN (B) BQSN (C) BQNS (D) NBQS

Qenemwunes ciam BCpujeransy. yeTTed, ereiaer
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83.

Below are given marks of two candidates P and Q in four papers each. Study these marks

and then answer the question.

=18 <

FCandidate P Paper 1 | Paper Il | Paper Il | Paper IV
Maximum Marks 75 100 80 70
Marks Obtained 45 65 50 35
Candidate Q Paper V | Paper VI | Paper VII | Paper VIII
Maximum Marks 80 75 100 70
Marks Obtained 56 44 40 42

in which paper ?

(A) Pin paperII (B) QinpaperV (C) P in paperl
P wphmib Q eeyib @5 Lomeweuiser, prerg UM _Bseld GlupD

&GS 6T L yeflds Ll (BeTeTeT.

c

RIENDS ACADEMy

No: 219, NET
HANJAKUPPAM

CUDDALORE.Y,

HAJIROAD,
91184300,

7

%

TENKAS| AKASH F
Phone: 9

Considering the performance of P and Q together, who has put up the best performance

(D) Qin paper VI

LomewsTauIt P smerl | gmerll | gmerlll Smar IV

SUL & 75 | 100 80 | 70
jgﬂ@umr - OH&H 1AL IAS & &1 d

219, Grs1el Grn@ (SB! st
@LI,@,@ 45 65 50 35 DERSFE @ LILLD, &Leani-1.
OGO LI ' A&eL : 9791184300
LomessTeuri Q - smarV | gner VI | gner VIL | smer VIII vy .
: W o

APsLILF 80 75 100 70 i

- * * . s 3
L0816 LiGHT
Qupp 56 44 40 42
L@ L1G) LiGHsT

P wpmpib Q @meudle w0 LiewsEemer @u:jh_@ Wi eIBSL um..g,@sv

Wls& ApLiunsg Czid& Clupmyererti 6Tewd Fnmis?
(A P erareui greirll @b

C) P eresrcui gneirl @eb -

@a Q erGiLIGu e V @i’i

(D) Q erewrsauit gmeir VI @)ab
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84. Refer to the Diagram and answer the question.
7
ﬂ— 10
8 12 6] 13
4
9 11

" Rectangle represents Males
Triangle represent Educated :
In]
Circle represents Urban

Square represents Civil Servants.

Who among the following is a male civil servant who is neither educated nor belong to

urban area ?
A) 7 (B) 13 - (© 4
Clsn@sgieTar LLgesLs LTisg) Caarals@rs@L LS STayLb..

D) 1

7
735 -8
8 12 6] 13 _ S |
. J " i \KAS| AKASH FRIENDS ACADL.Y
9 + No: 219, NETHAJI ROAD,
MANJAKUPPAM, CUDDALORE-1-

L -ge X - ' Phone: 9791184300

ClFaicusLd Y eEamars GDSS D).

psGarentb Lig Sseuisamand GHEDDs).

oL L_tb p&ISHE auFLiLeuismens GPEEng).

FgIoLh G-l uefluieh 2 arGernangd GPa&ng).

ECpuererauppley a1z LGSSUGL DTS  FEIEGD UG BLimpLb
QYOG Gl Lenfluiled @Q)(BSGLD @I e BLIGH TS GDE&) g ?

(A) 7 ‘(BJ 13 l ©€) 4 (D) 1

-
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85, Read the information and give answer,

There are S persons P, Q, R, S and T. One is a football player. One is a chess player. One
is & hockey player. P and S are unmarried ladies and do not participate in any game.
None of the ladies play chess or football. There is a married couple, in which T is the
husband. Q is the brother of R and is neither a chess player nor a hockey player.

©Oymrap IAS B Bl
219, Bzl Con( (SB! e1ific),
A) P B) Q C) R (D) S _'m@'eé,@uugb,&,_y”-l_
fge6v : 9791184300

Who is the hbckey player ?

SIUDV BT LS, LS ST Lb.

P, QR S wppb T y&w 5 puiser. @meurt SMeOUBg afgm. EeUT FHITRIS
afpi. @@t aprs® ofyi. P wpmib S 2 ®Cum S (FLOGRTLONE TS LoFGHIIT.
st e1ps aflewerwniygd swBg Cemerenigeuiser. e1bsGeun(s
Lesaiid sg10misGw, srupGst ellaenum_eldame. §)ELoeRTLoTaT 0
Cgmguied T erehrueur sewraui oyeumi. R wpmib Q FCsnggisermeun. Q
310518 afgGrm yebevg apns® aIgGor HenL_wing).

= .
Qeuisafled anréS) afgi wmi 2 g é
B U 2- Oo
(4) P ®) Q © R ® s =2 328
2583
W os
86. Study the following information and answer the question given below : & g -
_ ryzo
Six friends P, Q, R, S, T and U are sitting in a row in the North direction. R is between PS et o
and T, S is not in the end point. Q is immediate right of T. U is not at the right end. a2 _§
: ® <
Who is to the immediate left of R ? § ¥z
" (¥ 8]
(A T (B) P (C) TorP (D) S ., -
CasrRés UL BHeter SaHaamevL LY sg, 8p o erer G&e?raﬂas@é;@ﬂ LSy
STeyLb. '

P, Q R, S, T wpmub U »&w yny mesuiser L &G Crnsd® cufeovswuns
SLoipglenenasii.. R eraiieur P &@b T sG> pHCeu o drenni. S eredTLIGUT
a;sm.a‘s@am.q.q&?si) Qevemev. Q ety T 5@ UNFILDSHD PSS
2 airenmit. U eT&@TLIGUIT UeugILDé saL_&Csmig uieh @eene.

R ettt G QL-SIUDSHD ABSs5515 o eremeurt wimi?

@A) T | ® P l (C) TorP (D) S

—————
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TENKASI AKASH FRIENDS ACADEMY

No: 219, NETHAJI ROAD,
Phone: 9791184300,

MANJAKUPPAM, CUDDALORE-1.

88.

c
87.

[T

-18-

Read the information and answer the question.
hours; one hour needs to be spent

Five books A, B, C, D and E have to be proof read in 6 .
- : h

for one book. A break of one hour is to be taken 1n the 3.“1 or 4" hours. Tﬁehproo;‘rezsl.ng

cannot start with A and has to end in C. D has t0 immcdla.tely fol'low B wit C;mE re: hm_

between. A cannot be done immediately after D- A has to immediately precede E with no

break between.
Which book is to be proof-read immediately after the break ?
(A) E (B) D (C) B (D) A

SEUDE BETES LGS5I, LS SrajLb.
A, B, C,;D upptb E 9w 5 L555EISET

Qi GauBLb. (@0 LS553PDS G L0 ,
3 Ywwg 4 agl wenll CrrsHd, b Lo GroLb @evL_Cauewenr guia)

eTS&16 Qaeranaurd. A ereyh LIGS5S5D QMBI TLDGD, enp HBSSLD
C etaqib L$3555Fe0 (g Cauasr(BLd. @m;@mmmuﬂsﬁ@rrwab D eTeyith
LsssLh B LssssBe ey Hosss8pEL L Csm_ms Gouas(BLb. D
srailh Ussal e Dpsss8n6L L6 oL Car A eTaiLb Ls5L e
BBEsD QsT_miss sming. @ Gauamenisbevrosd A eI LS55
Hevyp H@3sLb E e1apilh L$5558DS QFm_mISLILIL Geuewr(pLb.

@enL_Geuanar iy oyt ey SBSSLb QFuiw Couesstiyw LSSSLD 6151 7

6 wewfl GrusH® Ly BB
essfl GpLb GlFavadl Ceuasst(hLd).

/w/E‘ ® D © B 1UD)A] "

Read the information and answer the question. -

In a school, there are 5 teachers. A and B were teaching Hindi and English. C and B were
teaching English and Geography. D and A were teaching Mathematics and Hindi. E and

B were teaching History and French.
Who among the teachers are teaching maximum number of subjects ?

(A) A ® B - ©O°C (D) D

FEQU@ F6TE LIgSEl, LS STaLb.

@ LeTaflufleh 5 G Mwiisaer o_cirenei. A opmitb B anlB@uib, 9y mi&evrpLh
spms seHaperi. C wppib B ymieepd, yaluwed spmys
sm@epant. D wppib A seligupd, adlbPy sHppIS SHReTnemi. E
wopmih B augewrpyid, L965Es&h sPIS S®S D,

Wi B% eTaiTeismstleneT LT BSmas sHnis sHSeTneTt 2
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89. Study the

90.

pie chart and answer.

TENKASI AKASH FRIENDS ACADEMY
No: 219, METHAJI ROAD,

MANJAKUPPAM, CUDDALORE-1.
Phone; 9791184300.

Science
80°

Social

Science
65° )
The marks obtained by a student in Maths, Engljsh, Hindi, Science and Social Science is
given.

Full marks of the examination is 540.

In which subject, the student has got 105 marks ?

(A) Maths (B) Science (C) Hindi (D) English
LI UDTLIL GG F6iT& LIy SgI, LT LS SrayLb.

‘IO
A

e

w

senfiglb, miSew, ypalwe, sups yBalwe wwHmLb gfél[ﬁ,@ 5

ungisells) @@  remreut Gupp WHLCUEISHT L auTLL EB)6 g “
2 _ciTang). ; : . - | Q % g:-'{ -
Cgrallelr Clongs WHLIGLIETSET 540 @ Lb.. ' ¥<9s
Db Lomewteut GTESL LTS8 989 EILIG LT Qubp i ? . ‘@ g =2
(A) senflgb  (B) ypledwed |(C) afpH D) ym&evid - Z 2 § g
b - .
Read the information and answer the question, x ¥ f &
Having set out from home at 10.25 am, it took me about 28 minutes to reach the railway 3 o L
station. To my relief, the train was late by 42 minutes, It finally arrived at 11.25 am. If Na= 6
the train had arrived on schedule, by how many minutes, I would have been late ? 3 2$<g
(A) 9 minutes . (B) 10 minutes (C) 11 minutes (D) 12 minutes x 2
- 3

s peiG LY S5, CaaralserdsL LS SraLb.
srea 1025 wewnlid@ oI nelmig ypliul L earEs, Quuied Benevwith
Clesipen_ausp@ 28 ELOLBiser YGl. 61T HFtagdh  @uuied 42
BUL_riseir smogons eupsg). &l s sTevv 11.25 enfld@ aupg)
Coipsgl. oo Gaumer @ruie GO$s CouLiLng sMwns up@misney, Hrer
sTelauenay FILOL_mIsel SmogLon@udm .Gy et 2

(A) 9 AOL_miser L"-‘_Bii 10 _@)@;_;5‘15@

C) 11 pBL_riseir (D) 12 AL miser
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91. Study the table and answer the question.
Y
SH FRIENDS ACADEM
Aus Giyap | oenes TENK:E ?11(: NETHAJI ROAD, ¥
upto 15 yrs 30 MAnJAKUPPAM CUDDALORE-1. |
.Phone: 97911 84300 _

16-30 yrs 22

31-45 yrs 18

46-60 yrs 16 %

61-75 yrs 09 &

75 and above 05

Percentage of total population for 2011 under different age groups is given.

If there are 45 million people above 45 years, then how many persons will be there in the

age group of 31-45 years ?
(A) 3 million . (B) 27 million
(C) 36 million (D) 25 million
QYL L auenemTenil BeTE LSS, G&maﬂa@é(gu LBIah ST LD.

QU UILbLY FSalGSLb

15 euwigl aey : 30

TENKASI AKASH FR!F.NDS ACAD
16-30 euwigy) aueny 22 No: 218, NETHAJI ROAD, Em.

MANJAKUPPAM CUDDALORE.-1,

31-45 auwg auenT 18
Phone: 9791184300,
46-60 euwg aueny 16
61-75 auwig) ueny 09
- 75 g Gy 05 el

Loy ewgseled ot QIss s G?grrsm&uﬂw F5al&\gLb
@an@aa;uul_.@mm@ (2011 ,TL9.8IGHL_1LIG]) _

45 awwBp@ OGwe 45 Wellwer wésb @Qmwpsme, 3145 eugLbLfg) (g eir
ssgamar Guit @) @LiLmiger ?

A) 3 BevaSwer |\®) 27 Lﬁ)@baﬂlus;l
| L——
(C) 36 hlevaSlweair (D) 25 whleveSlwiasr
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92.

93.

o . . - "
Read the information and answer the question. i~ 97 1!

When ordered ‘One’, a person has to put one apple in o basket, When ordered ‘Two’, one % o
. has to be put. When ordered *Three', one orange has to be put. When ordered 4 uw
‘Four’, lhlf person has to take out one apple and one guava from the basket. The order 8 9 o o
sequence followed the person is ¢ ; oSe
12332142314223314113234 Q;S:
At the end of the sequence, how many fruits will be there in the basket ? ::f‘ E 8 5
(A) 10 (B) 11 s (G 12 (D). 13 % 5-;
BEQUDG b6t LG ggl, Caerals@pd@GL LB suajLb. Soda @
‘@’ e1er Glensvayb Cuigl, @@ BT, RGBT THGSILI LU S : ;'?f p-
CGun Geuatr@ib. ‘@ua(®’ erenr Qemevauh Gungl, e@ Q@miwreauLb, 3 -
‘@PGE'{QU' o1ew GlFmevgyh Cungl, @@ BhTE FujLh THGSHILI eoLufed GLim '% 3
GGUF‘“@*-’J- ' preiig’ etaw Glameveyid CUNgl, ybs Ul @uuleSBhg S
PLleerub, e Qsminunaanytb QeualGu e1(B%s Gaues(BLb.
123324423142233+4113234% |

mg& uMensliuig ps psur QFiisre, auMaeliug samLFuiled auuileh

6TSS NGO LILPMISGIT () (FH&HLD 2

1 j (B) 11 @12 D) 13 R

Read the information and give answer.

In the Olympic games, the flags of 6 nations were flown in the following way :

The American ﬂ'a'g was to the left of Indian flag and to the right of French flag. The

Australian flag was on the right of Indian flag, but was to the left of Japanese flag, which

was to the left of Chinese flag.

Which are the 2 flags that are in the centre ?

(A) Indian and Australian flags (B) American and Indian flags

(C) Japanese and Australian flags (D) American and Australian flags

FHEIGEV F61G LSS, Caaralls@d@L LS $raLb,

@adlbLis afenemumiged 6 pr@eaflar Csfwd Clsmyser EGLp o cirereungy
UD&SaIN_ LI 1 (B BSET.

IOwMdss Camy  @BHws Glamguiler QL g ypuptb, LI6FEHss:

Q& my.uilesr auevgl LPUPLD LDBSHI.

B Cradws Csmy. QB ws Cameuiar euewg Lppb, Fard Glamg ufesr

@Lg ypb upps Osnamy.dis sriumellwd Gemguilsr @L g ypepth

UpBESI. "

c1b% @uetn () 6lsmy.&56T pEAIN60 LpbsaT 2 A P bg Bad, A TS
E&) @ubBwn PppiLd evHCredlws G)&;rru;as{ﬂ s

B GloMdis Loppith y
o L b o st TENKAS! AKASH FRIENDS ACADEMY

c . .
(C) guunmafluw wppib g,6vPCralluid Qsmig.ser No: 219, NETHAJI ROAD,

(D) HGlofda wppib gevHCrallwe Gamyser  mANJAKUPPAM, CUDDALORE-1.
- : —— Phone:.9791184300.
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94.

96.

(R

9% -
GRJCT’. In the sam€ code,

In a certain code ‘TOGETHER’ is written as ‘RQE

‘PAROLE’ will be written as
(A) NCPQIG (B) NCQPIG (C) RCPQIK (D) PCTQNG
o1 GTLpBLILIL- BETSI-

I(A) NCPQJGi (B) NCQPIG  (C) RCPQJK

- (€) 40 Triangles, 7 Squares

I?CY 40 (1pa s nasriser, T S&1TmISET |
| (D) 42 (p&CETenTrISET, 9 F&ITbI% 6T

siIGsg @Pui- e TOGETHER® g9 ‘RQEGRICT’
935 si1Gs5 GBI 1960 ‘PAROLE’ 6TgpiLh QUmisems STUPSLILIL TG
(D) PCTQNG

In the given diagram, find the number of triangles and squares hidden.

(B) 38 Triangles, 9 Squares
. D) 42 Triangles, 9 Squares
Clan(H&SLILL (BGTAT Quen : -( ; gles, 7 5q
2 P D’u‘—. Gu » . - .
(Lp& G MewT a1 6T @G'ﬂ.@@@ﬁmcmg;@ ﬂgg@sar ggIgrISen LDDI LD

(A) 36 Triangles, 7 Squares

-y

E5E
]
[

TENKAS!I AKASH FRIENDS ACADEMY
No: 219, NETHAJI ROAD,

ANJAKUPPAM, CUDDALORE-®
Phone: 9791184300.

(A) 36 wpsSCaneTmSeT, T FSHITMEIS6T
(B) 38 WpéCamewrmiser, 9 810m&6T

The Question has 3 words and 4 dia i
: grams as opt : .
correct relationship among the 3 words should%éostile;?c!ls.- THe/CEE Dl Sepaiins

3 words : Vehicle, Car, Jeep

*) w020 [0 @I} » @0

@5 aletredey 3 aUMTGMSSET LODDILE
S&6T LODMILD 4 61IEH I Ty .
GGUF":““MJ umiILILngS C&TRSELILL (BHeTar ;‘;’I@fﬂ&sm Csipbls®ds
:Jmnﬁmg&@&@@%@wwnm OsmL_ienud FRlwns g s
iUl geng Gsiih0s0Es Gauai(B)Lb. $85ME58 nig W
3 umigang&er : aunsaiLb, S, gL

@) (B) OOO Q (D) @O
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L .23~ TENKASI AKASH FRIENDS ACADEMY "

No: 219, NETHAJI ROAD,

97. 466 398 ALY MANJAKUPPAM, CUDDALORE-1.
341 282 ‘{4’\ Phone: 9791184300.
250 L |

(A) 298 (€) 350 (D) 268

98. A watch shows 1.30 p.m. If the minute hand is towards South, what is the direction of the
hour hand ? '

(A) North (B) South-East (C) North-West (D) North-East

8@ Osysmyd wPuib 1.30 werllows ST GEDg. PO wer CsHams
Crra&) @QbLideT, wefl &1 1P T55S Dasamw Grrss) @)més@Lb?
(A) L& (B) Glseir lipss
©) e Gupe l(p) UL @g;a';@\

EMY

99. Find the wrong number in the following series
8, 14,26, 48,98, 194,386
(A) 14 (B) 48 “(C) 98 - (D) 194
Qb5 aullensulgyeer Sauprer crasan s &Gl

8, 14, 26, 48, 98, 194, 386 _ -

(A) 14 (B) 48 (C) 98 (D) 194 5=
100. 0.5,2, 5, (2), 15.5 ‘

(A) 55 (B) 9 © 125

101. Select the series in which letters are not accor_ding to the general rule.
(A) PRTVXZ (B) CEGIKM (C) MORTVX (D) ZBDFHIJ
Cungieuner ISy Qs  erpdHISEaT  oder  QsmLewgs
G ik 6)s (H)&saLb. _ - .
(A) PRTVXZ (B) CEGIKM | (C) MORTVE] (D) ZBDFHJ _

H

[=]
TENKAS! AKASH FRIENDS ACAD
Ne: 219, NETHAJI ROAD,

MANJAKUPPAM, CUDDALQRE-L
Phone: 9791 1 84300.

102. The average age of a cricket team is 27 years. Two players with 24 and 27 years of age
are replaced by two new players of 23 and 28 years of age. What is the average age of the
team now ? 29 '

(A) 27 (B) 26 (C) 24 (D) 28
@@ Ms0s yenfliligyerereuisafier sgred anug 27 ETHSET Y @GLb. 24
LPppIth 27 QUWEILIW @QHIGBSGL. LSS 23 LPMILD 28 euwGeTer
Qweui LBsrs Csissliul Rererarnt. @uUGUNE Iewfluieydreteliseer
FON&FR US| GT65TGHT? '

l (A) 27 S (B) 26 € 24 (D) 28
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103. In the given figure, if the centres of all the circles

TENKASI AKASH FRIENDS ACADEMY
No: 219, NETHAJI ROAD,
MANJAKUPPAM, CUDDALORE-1.
Phonre: 9791184300.

104.

" 105.

L

.24 -
joined by horizontal and vertical

arc

lines, then how many squares can be formed ? b
(Y :

S ®7 ©8 O
ELp&& L ueILIL $G6) 2 srar oL L_mI%ah et émmw;ﬁ;a;mc::rr @mL_Lf)ng
wpmith  CFRIGSsTasE  Canpsmens Qanen() @eeTSSTeL TSI

FS| I BISGT GlenL_&@Lb?

(A) 6 (B) 7

' The number given is 5894327614, We interchange the first and the second, the third and

the fourth, the fifth and the sixth and so on. Then when we count from the right end,
which digit will be the sixth ?

(A) 3 - ®) 2 © 4 O
G?asrr@é‘s&ﬂu:;@sirm eTessT 5894327614, (@)&eb (LpFev, @ggﬁn_mb CTGRTEGIT

 gemdleT @)L S LopCDTTID, ApIDIL-FIHGLD, gBSID- YD @S

Guney wPp eTETSE@sL GLtb WIHPLUGSEET. g Gamguie
Qwigl eTaTenRticTed 61hS e Yo @Q)LSH6V @) (155G Lb?

4 3 ® 2 ) 4 D) S

What is the product of all the numbers in the dial of a telephone ?

(A) 1,58480  (B) 1,59,450  (C) 159,480 (D) None of these
CgnaraGuuie Lp&LILS SHL 1960 2 6TaT Ymeisg) sramseler QL @S
Clgrena 61616 ? IR .

(A) 1,58480 | (B) 1,59,450
(C) 1,59,480 _ .(D) @aupde ﬂ@mﬂ@meﬂ

——t

Scanned by CamScanner
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106. In the merit rank of a class of 50 boys, a boy occupies the 31 place from above, what
shall be his place from below ?
(A) 20 (B) 19 (€) 21 (D) 18
@G MGLdeyeter 50 wnemeutaallat WHIG G griligwaid S
LD TGS G GHT G’maﬂ(gjﬁﬁ; 31 eug) @™ uGldEpner. FPahs ez

L_LD GTe¥IenTa NS Q) mad@h ? .
(A) 20 (B) 19 (C) 21 (D) THENKASI AKASH FRIENDS ACADEmy

No: 219, NETHAUI ROAD,
MANJAKUPPAM, CUDDALORE-1,

1
107. 85+ 60% of 2= 15 - (2)
Phone: 9791184300.

(A) 5.55 (B) 627 (C) 6.03 (D) 4.13
1 6
87+5 @M60% =15-2

(A) 5.5 (B) 627 @ (D) 4.13 S'E

, ?
108. Which number should replace both the question marks in % =Eq _
(A) 64 (B) 56 (C) 58 (D) 72
61 eTavsTenTeng) @)uan® Caarals @mhlaemenuyb BlliLs (LpLg ujLb ?
49 ? s '
? " 64 |
(A) 64 (B) 56 (C) 58 (D) 72 § :
' Wi
109. A pen costs T 7 each. A scale costs T 5 each. X spends < 38 on these stationaries. The g ‘ﬂ; % i
number of pens purchased is ;: g < 3;
(A) 2 (B) 3 (C) 4 (D) Data inadequate. S=-8%
@ Guerralsr alew T 7. @5 JereCaredler aflenev T 5. X erattueui I38 £ £ 3 «
5@ Qb5 @ueme b curiISlennit. et uriBw Cuemsser isgmaT? L 5} "E
(A) 2 (B) -3 ] © 4 \ D) aflougd Cursng 2 o 21_‘ e
" - ~ags
110. Which of the following figures is different from others ? 3 2%z
(A) 6385 ~ (B) 749 (C) 3658 (D) 4659 Lo EF
Bperen 615 e1adT LHPUPPGES LAYIUL 19 BSEDSI ? :;:' = 3
(A) 6385 (B) 7496 (C) 3658 (D) 4659 Y
. - e
111. If the third date of a mofith is Sunday, what date will be three days after the fourth )
Wednesday in the month ? | i il
(A) 24 (B) 27 (C) 29 (D) 30 e

o6 wigsBer apaprag prer GMADYSSPOLUNS QBESTH b
LISSPe prasTesl LSHHLpeEE apen FTLs@&GL! LlaTert ersirar

Gs@wns @) mé@Lb 2
) 2 ®) 27 © 29 (@ )
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112.

115.

116.

"In the given series, find the number which is wrong :

LR

-26-
In the given series, find the number which is wrong :
2,3,4,4,6,8,9,12, 16
(A) 3 B) 9 (C) 6 (D) 12
C&T®&S LI BTT 6Tevst euflenaufed 61bG G168 SRUDTETH] ?
2,3,4,4,6,8,9,12, 16
(A) 3 _ ] B) 9 & (C) 6 (D) 12

« 499:x=x:4, findx

(A) 16 (B) 14 . (©) 10 (D) None of these
49 :x=x: 4, GTDI6L x -6i1 LB I LIG HT6HTS.
(4) 16 l@) 14 k ©) 10 (D) @apda egieyib Gevera

. If we get the same number on adding 32 into the 80% of a number, then which will be
- that number ?

(A) 16 (B) 160 ) 32 -~ - (D) None of these
@ erevwenilar 80% ssalGssgicr eteiw 32 wmé Gaissrdw, HGs ereww
FlanL_&GLoneuTed, b eTaRT 61 ?

=N 1Y BIE
(a) 16 (B) 160 -} T =
© 32 - (D) @eundle e1g1alavensy

28 students were divided into three groups A, B and C. Group B consists of twice the
number of students in Group C. Group A has half the number of students in Group C.
How many students are there in Group C?

A) 4 (B) 6 <€ 8 (D) 14

28 wnmewreuiser A, B wpmib C  e@ud  epeimy  GupésarnsLi
diss L@ &eperi. Gw B. @w C @6 odrarg Gurem @@ oL i
remreuisemens ClsraLgl. W A @, G C Q& o daGed LTS
eTeenfidend LomewTeuisenr o erarari. @wp C @6 o 6rer LoTewTeUiSET

eisgana Guit 7 :
@ 4 - ® 6 @ ) ©) 14
: TENKASI AKASH FRIENDS ACADEMY

> No:l219, NETHAJI ROAD,
MANJAKUPPAM, CUDDALORE-1.
10, 100, 1100, 11000, 111000, 1210000 Phone: 9791184300.

(A) 1210000  (B) 11000 (€) 100 D) 111000
Qan@daLiLL Berar erair euflensuileh e1bg 616w Seup ez 2

10, 100, 1100, 11000, 111000, 1210000 _ | :
(A) 1210000 (B) 11000 (C) 100 19)) 111000 l
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TENKASI AKASH FRIENDS ACADEMY
-27- No: 219, NETHAJI ROAD, c
MANJAKUPPAM, CUDDALORE-1.
Phone: 9791184300.

(O

3.4
117. '5_+6_?

23 | g 1
Ef;)j (B) % € 7 D) 3

118. The average of four consecutive odd numbers P, Q, R and S respectively (in increasing
order) is 104, What is the sum of Pand S ? .

(A) 204 ~ (B) 208 (C) 206 (D) 212
QsT_sQwner epewpLriLienL easaenTar P, Q, R wppih S pepGu T
aufenFulled @Q)BEGI ST FITSTW TS 104 95 Q)pHSTeL P LopmILD S (@)6bT
L (DS Qsrens eraieuamay ? &‘
(A) 204 (B) 208 |- (C) 206 (D) 212 =1
Ml M | oz
o? 0%’
119. In the given series, find the number which is wrong : ' l::q \\ oF-
3, 10,27, 4, 16, 64, 5, 25, 125 _ ¥
(A) 25 (B) 16 (C) 10 (D) 3
Qar@RésLiuL (erer eTanr auflangFuile) 6155 6TeT SaUDTEIS ?
3, 10, 27, 4, 16, 64, 5, 25, 125
(A) 25 (B) 16 ( ) 10 \ (D) 3 -
_ g
120. Complete the series , ' S
48,24, 72,36, 108, ? i
(A) 110 (B) 115 (C) 121 (D) 54 g - ‘
areir aulenags Qsm_apll L8 Cliiuaib. D . -
- , o O
48,24, 72,36, 108, ? - § 2s
' ar-es
(A) 110 (B) 115 €y 121 l(D) 54 l & 2 2 ;
| EtY%s
. TW=EG
121. In the following sum, ‘?” stands for which digit ? 3 -
T419+22+73+21=217 <I3E
(A) 4 (B) 6 (C) 8 (D) 9 23: Z 2 Q
£ 3

eraupid semsGldy ‘7 eTangd GDIEED ?

1 TH20+0347 15217
(A) 4 (B) 6 !(9) 35 (D) 9
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122. The value of (243) [ (243)0‘07
4 (7)0.25 . (49)0.0?5 x(3 43)0.2
7 3 =
@ 3 B) 3 © 17 D) 2
0.13 0.07 -
(243)™1 x (243) Qeir wBry

N R
wil ®35 o5 ©) 2%

123. Which should be the correct signs to balance the following equation ?
i 17—=3% 6=45 ' B
(A) x,=and-— (B) -, xand= (C) =xand- x, —and =
WehraupLd soatUL e F@ Qediuyh aflgons o LGursliL®Ss Colesig w
- glwner GO L& CsipGlsBdsayb ? - e

17 -3 x 6 =45 -
(A) %, = Loppib - (B) - x ipgib=_ =)
(©) = x ppib- N CERTTTE |
124. Ifx:y=3:4,find (4x + 5y) : (5x— 2y),
22 22 32 32
(&) By = o =] o %
x:y=3:4, eraleh (4% + 35;’) : (52-2y) @)eir LB LIenLid snedTs.
2 ol T el 32
» 2 ® 5" ®7 . o2
g TENKASI AKASH FRIENDS ACADE A/
» . 4 5 No: 219, NETHAJI RCAD,
125. -The value of | 35.7 -| 3+ — |=| 2+——| | is MANJAKUPPAM, CUDDALCRE-1.
; 3+§ 2+% Phone: 9791184300.
(A 30 (B) 348 (C) 366 (D) 41.4
AT P Ll B @6t 0B
] . T Ly
3+§ 2+E

‘IIEI[ (B) 3438 (©) 366 (D) 414
Qe

L e . .
o
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TENKASI AKASH FRIENDS ACADEMY
No: 213, NETHAJI ROAD,

MANJAKL .
(A 29 MAMJAKUPPAW CUDDALORE-1. ¢
6. In a certain code, if TREE is coded as 7100, FROG as 2159, how is FREE codgd in that
code ?
(A) 2100 (B) 3100 (C) 1003 (D) 1002

Ao GOWGsfar epooth TREE 616D  pmi&a a'r@,émg:. 7100 G6r6aTD

sTevenTTed @ puIL (Bb, FROG eretip HAIH e1pdang 2159 e16hip a-rsmmn:v
GOW® Osuigned, FREE eréip gphifle TS erciaunpl GPIGT iz

(B) 3100 (€) 1003 (D) 1002

127. If CEG is written as TSR and FHJ is written as QPO, then IKM is written as
(A) NOP (B) PON (C) MLK (D) NML
CEG yu&a epsgidaamer TSR eaar erupSarmed, FHI ereirp m&lev
TpsgISs@mer QPO etaw erpBlawmed IKM erairp QBEG GTLPSSISHEHEaT

ereeunpy erpgIadiser 2 :
(A) NOP ® PON . () MK | @) NMLS

128. If ‘Green’ is called ‘Blue’, ‘Blue’ is called ‘White’, ‘White’ is called ‘Red’, ‘Red’ is
called ‘Violet’, then what is the colour of grass ?
(A) White (B) Violet (C) Red (D) Blue
Bpmigseafled vUdamsFearw ﬁsvwrrasm;w, Bev flngens Gleudrenaer errazsmuw,
Cleusirener BnSenss @muu eTewrayib, Peuli Flsens oersm BmLb a'rmsul.o

FnDIGOTTGY LjGVGS)GT BlmLb eTesTenr ? ¥
(A) Qaveiranar . (B) sagm ©) @au_gq \@_f’ﬁ"_ |

1.

CUDDALORE.

AJI ROAD,
91184300

KASH, FRIENDS ACADEMY

©: 219, NETH

Phone: 97

IENKASI A
N
MANJAKUPPAM

129. If you write down all the numbers from 1 to 100, then how many times do you write 3 9
A) 11 B) 18 © 20 (D) 21
gmﬂsﬂ@g@ 100 aueny GTGUTSENGT BRIGET 61(LpGILbBLING 3 ~ T eTadTem ey

CISSNGT (LHGOD GT(LPGIGUTUI ?
(A) 11 (B) 18 I(C) 20'5 (D) 21 W,
| g | = v

130. Choose the number pair / group which is different from others. - 40‘35 <
(A) 34-43 (B) 55-62 C© 62-171 (D) 83-92 av e
WetteupLd @Lp eTesrsafieh eTaneu CoumyLi” Beireng 2 3o 19" '

(A) 34-43 5 -J ' _ 'l
- ® l @ 55-62 . © -1 © 83 -9 ﬂ,m’i‘-,g,\’f “

%

131. If A =26, SUN = 27, then CAT = ? -
(A) 24 (B) 27 . (C) 57 (D) 58 A
. A =26 ereuflah SUN = 27 er6irpyiy Lﬂm@ CAT = ? (eretraweuns OIGEICTH, %

R (B) 27 (Q) - 57 \i]_ (D) 58
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136.

Cc

|

-30-
132. Find the correct answer of following pairs :
7544 :5322::4673:7 w2
(A) 2367 . (B) 245] (C) 2531 (D)
FRwnar aflewL_eis SEIy.. LIeHelHITaD DG ()6 cwTLITET GTGUST 6T ?
7544 :5322::4673:? L9 S :
(D) 4472

133.

134.

135.

 ebih

(A) 2367 (B) 245]1 (C) 2531

Effective communication will make the receivers
(A) Enjoyit (B) Acceptit

(C) Pass it on to others (D) Think about it
LBa& Epps ssauevrearg OLmyLieuens

(A) w&pailé@Ld %
| B) gunéQamior maiden) TENKASI AKASH FRIERD5 ACADEMY"
No: 219, NETHAJI ROAD,

(C) ppaligei_tb Clenehen aaudEGLd MANJAKUPPAM, CUDDALORE-1 -
(D) yesLiupy) FpBss @6 GLD Phone: 9791184300.

A class of girls stands in a single line. One girl is 19" in order from both the ends. How

many girls are there in the class ?
(C) - 38, (D) 39

A) 27 (B) 37 _
R aGLILDUIeTaT LomeTalser Yyeneeuwd @Gr  CriGasmL®

whenguiley Blasipesri. 19-tb @)L SHeyerer @5 LoTETalEE UGV LISSLD
QL& wussd sgnsiwns wrealser  @)BHSTE,  IbS

auGLiuepuigyerer Glorés wremralser aésamar Guii?
(A) 27 | B 37 i o = () 38 D). 39
then how can ‘PSYCHOTIC’ be

If ‘NEUROTIC’ can be written as ‘TICRONEU’,
Tre ehro ¢4y

written ?
(A) TICOCHPSY (B)' TICCHOPSY (C) TICCOHPSY (D) TICHCOPSY

‘NEUROTIC’ eretrp eunmigenguilenanr ‘TICRONEU® eretimy erpsLii’ L_meb,
‘PSYCHOTIC’ er6iip cunigenguilenes ereieuny erpgiadiser
(A) TICOCHPSY|(B) TICCHOPSY](C) TICCOHPSY (D) TICHCOPSY

If in a certain code language ‘GREAT’ is written as ‘GRETA’, then how will ‘FIGHT’

be written in that code ? . 3 |
(A) FIGTH (B) FGITH (C) FGIHT (D) FITGH

] @,d?ur_‘ih_.a_ @gﬂu.‘r‘:_:_q.mmu vweTL®$S) ‘GREAT’ e16ip eumigensuiena
‘GRETA’ etewr erpstiuLney  ‘FIGHT e1etip eumigensuienas e1pss

@ouIL 196D eT(LpSeVmLD ?

(C) FGIHT (D) FITGH

[ (A) FIGTH (B) FGITH
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137. The of the state is efficient.

(A) Administration (B)  Democracy ypnyas) AKASH FRIENDS ACADEMY
(C) Policy (D) . Autocracy No: 219, NETHAJI ROAD,
ELDM'L@M,&@G&I___H Speiowneig. » MANJAKUPPAM, CUDDALORE-1. -
(X\—)/,Lﬁrimrrast.b (B) &Bmwasih Phone: 9791184300.

(C) Osnerens ' (D) Feun@amgb

138. A pair of words is given. Find the correct pair of words filling the question mark with the
same relationship as the gwen pair.
Wife : Marriage : :
(A) Bank: Money (B) Nationality : Citizenship
(C) Service : Qualification (D) Attendance : Register -
) G?grru;. mnngmgasm Clar@saLiul Beeng). @)Cs i@ Csm_iLye_w
awrigens Ggmyoamw Gsiey G&Fuig) G&‘m@ﬂas@gj?u;mm QLgamsll L4138

QewiweyLb.

Lenarad : S mLoswTb ;1 ?:? ¥ F4E

w@ LIGWTLD (B) Gs&wib: Guyuymeno 2
owfl Geanau : 555 (D) @™ : UGG
139. Another term used for interpersonal communication is

(A) Group Communication (B) Face-to-face public communication -
(C) Dyadic communication : (D) Traditional communication
&muu@uurnuaﬂmm GTGBT[_D SaaIed OlgmLiy aumigesaw Caip GOTRTT)
Y DLPSHSGTLD ?

(A) GBS Olsm_iiy Iyevevgl & (LpaileT sseue QST

1[ B wpaib Gr1s% GG FHalcd u:ﬂmrrppmj
O @ualever st $sH6ue LIMLADDLD

(D) wmpmbufw (wpenpulled $&eued LIMTHDLD

140. The transmission of culture from one generation to another is called
(A) Acculturation _ (B) Enculturation
(C) Interculturation £ (D) None of these
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